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EAA®OAOTIA.— Zvpfoln eic Tov wpoodioguopov Tig ohixiig xwenTLéTN-
T0g wE0CEOPNTENS ToD Eddagovg. Tayeia nédodog mwpoadiogLopod,
7o Xptor. Bacidetddov. *Avexowvddy om0 tov x. B. A. Kowmd.

Oy yoontundtyta meocpopoeme tob £0dgovg dvoudlouev t0 cvvolov
v avralofipov xatdviov (xvolwg C4, Mg, N&, K- H') eig yihooctoicodivana
gt 100 yoouw. 2ddgovg.

‘H onuoocta thg yvaoemg thg Ohxiic ywontndtntog mE0cQopoemg TOU
gddpoug eivar ueytotn. Al dvudodoeig aviarlayig tdv xatidviov Aapfdvovot
roav Eml the Bmpaveiog TV Gvooydvov xal doyovixdy xoloelddv tod £dd-
pove. ‘H moodtng howwov t@v dvrallabinwv xatdviov agrdtar xvolwg 8 Tiig
neotextindinTog Tol 2ddpovg elg dvloyava nol deyavixd xoAhoeldii, ta 6moia eival
T 8veoyos wdla adtod —10 mowtémhaopa tol Eddeovc — fitic 60ilel TAC QuOLKO-
yquixag %ol Broloyundg adtod ididtnrag, Emouévag xal Thy yoviudtnrta tod 8ddgoug.

‘H moodtng xol 10 £idog tdv &mi g &m@oavelag t@V %0Melddv m00QO-
enuévov xatidvimv #xel peydiny onuactov dua tog id16tmrag Tob 8ddpovs. Ovtw
.y, 10 GoPéotiov doouBdver ta xohhoeldfi xal mpocdidel eig 1o Edagog moAd xa-
Aog idudtnrog, Bve TO vdtolov memtomoiel tavta ovEdver tov Paduov dacmopdg
00 &ddpove nal mEoodidel eic tovto mOAV xaxdg idiéTnTOC.

*Enedy) 6 mooosdopiondg £vog éxdotov tdv dvitalhainmv xatdviov damoi-
el Goxetoy yooviov didotnuo Goxovuedo elg moMdg mEQUETDOELS VA TEOOLOQ(-
couev t0 ouvoloy tdv Gvialakinmv xatidvrwov. Eig dllog 88 mecumtdosig mooo-
drooilouev 2xtog tod ouvvéhov t@v Aviahlofinwv xotidviov xal &v xatdv. Toiro
gpaoudletan nvpimg 2wl t@v dlatovyo-dhxakiwuévov Edagpdy, 6mov dud va evow-
uev tov Baduov dhxalidoemg doxodueda elg tOv TEOodL0QLGUOV TOU cuvGlou TdV
avradativmy xatidviov xal tod avrarhatinov vatoiov.

AT pédodol ai 6moiol Bpaoudlovrar dud tOV moodL0QLGUOV THg Ohxilg yw-
oNTdTNTOS TEOGOOPHoEMS GuvisTavTaL ®volws &lg tv xateoyootav Tl Eddpoug
S drahdmurtog évog dhutog péyorg Btov BAa T moooQogMuUéva xatidvia Extomi-
odotv VO 1ol xutdvroc tov Emidodvrog dhotos. IToAkai wédodou Egouv meo-
tadi] mdg TOV onomodv tovtov. Avapégouev xutwtéow thv uédodov tod OEwoD
auumviov, fittg Bpaoudleral eig edoeiov #Ainaxo elg v "Aueomnv xal Ty 6woiay
elyouev ®g Bdow S v olyxouowy TtV dmotedeoudtwv THS VO HUDV TQOTEL-
vouévyg uedodov.

‘H pédodog tod 0Eol Guummviov €lg Tag YEVIRAS YOUUUAG eival 1) Gxbhov-
dos (1). 4 yo. 8ddgovs tidevrar eig owhijva quyoxevionoews, mopoodéropev 35



428 IIPAKTIKA THY AKAAHMIAY AGHNQN

*. . 1 dEwoD dupmviov oddetéoov (pH = T), dvaxwoipev OAlya devteodde-

X 3 ’ 2 N ’ ’ \ - A\ & 2 ) ) ~ 2 \ ’
o xal apivouev émi wiav vouta. Thv émouévnv dvaxivoiuev émi 10 Aemrd, gu-

~ A by \ b 3 \ N A % ’ \ {
yoxevroobuey ué 1500 orooqag xatd Aemtov émi B Aemwrd nai dmoyidvouev to Vmeo-
reluevov diavysg vyodv. IloocYétousy mdhv 35 %. éx. OEol dupwviov, dvaxi-
vobpev éxt 10 Aemtd, quyorevigoluey xal dmoydvouev tO Umeoxeipevov vyodv.
[ToogYéromev mdhiv 3D ».6%. 8ol Guuwviov, dvaxivoduey éxi 10 Aemtd, guyo-
#evreoUuey il amoyvvouey 10 Vmeoxetuevoy vyoov. Tovto émavadlaufdvouey cuvo-
Mxdg 4 @oods. “Enmeita mooodéropev 35 x.éx. oivomvelpatog 95°, dvaritvoipey
gml 15 demwtd, uyoxevrooUuev xal dmoyvvouev 10 Otawydg vyodv. Todrto Emava-
hauBdvouev axéun 2 @oods, Gvoxtvoiviee thv Osutépav xol toltyy @ooav udvov
5 kemta éxdotore. "Eneita mooo¥étouey 35 x.8x. 9 KCl, dvanwvovpev émi 10 Ae-
N A -~ r \ 3 Q A { -2 \ ’ r ~ > ]

e nol uyoxevigovuev. Lo dvardev dwowyss Uyoov ovAhéyouev. Tolto émava-
AauBdvetar axoun 2 @oods. Eic 10 clvoklov t@v ovhheyéviowv Uyodv moocdiooi-
Copev v duuwviav 8 dmootdfewg xatd T yvmord O mooodnxne MgO #
dwahvpatog NaOH. Advatar § dupovia va meoodiogiodii kol yowuatopetonde.
‘Eni 80apdv megiexdviov CaCO, tyv &l toic % evoedeioav Sy ymontxdinto
100000 oEmg adEdvouey i moMamhaciaowod Emi tov cvvieheoty 1,1, didte eig
my meolntwowy tavtny 1 wédodog didet mnodreoa dmotedéopator.

*Extog ths dvotéom uedddov eic o mheiota tdv Efetacdéviov Edapdv
gronopomotjoauey xai v uédodov tot MgSO, (2). Kar’ admiy xareoyaldpeda

10 #dagog dua BaCly,. Meta tyv dmoudrouvoy tiic meotooeiag tod BaCl, 8t &x-
N
aMioemg O Vdatog, nateoyalduedo toito dua - -

20
totd 10 moocpopnuévov Bdotov symuatifopévor adialitov BaSO,. At mooadio-

MgSO,: 10 payviclov aviixo-

otopod toll Mg tol durdpatog meO xal uetd TV xavegyacioy otaduxde 1)
AymyLuoueTo e evploxoney ™y ywontivdtnta mEos00pYcENC.

‘H V¢’ fudv inefegyacdeion uédodoc ornoilerar émi tod yeyovérog 1t 10
K,CrO, maooveie Ba oymuatiCet dadidhvtov Evworv éx BaCrO,, &ve pera Ca oyn-
natiCet  eddidhvtov Evaow éx yowumixod doPeotiov. ‘Enouévog fi magoveia Ci
ovdeuiov énidoaow e, "Eav lowmdv &xtomiomuev cd dvtalhdEiwo  xatidvra Sud
Bagiov xal Emerta, perd ™y Ewmlvow tob Elevdéoov Paolov, xareoyacIduey to
gdagoc dua K,CrO, doiouévou tithov, 10 ndhiov Extonilel 0 moosoopnuévov Bd-
otov oymuotilopévov adioeditov BaCrO,. Aid mooodiogiopod 8¢ ol tithov tod
K,;CrO, imdwopetoundg (meta thv  petatrgomnyv eic K,Cr,0;) meod »al peta v
rategyaoiav tol &ddpovs ebpiorouey td yhiootoicodivapa o deopevdévia Hmo
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10t Baolov, Hror ™y Ghudlv xwonTdmra nooopoghoemg. Al laufdvoveat yo-

oav dvuidodoetg elvar ai dxdhovdor:

Bk | Bat 2 K,CrO,=| hn | o + BaCrO, + KyCro,
2 K,Cr0, + H,80, = K,Cr,0; + K,S0, + H,0

K,Cr,0; + 6K]J + TH,S0, = Cr,y(SOy); + 4K,S0, + TH,0 + 3%

Kat® Goyds 2oxé@dnuey v xOonolpomonjowuey g uéoov gxtomioewg TOD
noocoognuévov Ba duddvpa CuSO,. “Qg yvwotov 1o Pdoov oymuarilet wagov-
olg SO,” adidhvrov BaSO,. Awix mooodiogionod twdiouetomdg tol yahrod &v
1@ CuSO, mod xal perd Ty xategyasiav tob #ddpove da Rduvdueda ndhiv ta-
wéwg v moosdoplowuey Ty oAy yoontidétnra meocoopioews. ~AM Eyrarte-
Aelpauey ™y wédodov tadrny, didt diemiotdhoapey 61l 2wl dofeotovymv Edagpdv
t amotehéopara foav ndEnuéva. Totto deelhero, dg dua metpapdtov £0elydn,
glc 10 Su duPave ydoav xal dviideaotg dvratloyiic (elc uw@ov Paduov) netafy
100 CuS0, xai CaCOy 6adre Eoynuarilero @didivrog Baoindg dvBoonindg yahroc.

Eivat yvootdv (3) 6w xata myv xategyasiov dux BaCly &dagiv meQLEYOV-
tov CaCO, AauPdvel ydoav xal Gviidoaoig avtedhayfic uetatd BaCly xai CaCO,
oymuotilowévor pixgod mooot BaCO,. To Bdowov tob avigoxixot Pooiov dvri-
radiotaral peowde Omd Tob rombvrog T0¥ Emdodvrog Stahdpatog meoOg Extomi-
owv o0 moooognuévov Baglov, 6ndte mooodiogiCetar (¢ moocpognuévov Bdowov.

“Eyovieg o Spw td dvoréen Exepapaticdnuey uE TV U  NUOV TQOTEL-
vouévny wédodov dia va Stamiothomusy, &av Eouey adtnow tig Ohwdic ywonti-
xéinrog moosgo@iocwg mapoveig CaCOy. Eic 2ddon otegovpeva CaCO; moooeti-
9eto CaCO, &g avagii xéviv (precipité) xul mooodiwoilero i 6Axn LwonTrdTNg
TO0GQOPNGEMS MO Xal WUETA THV noocdxnyv 1ot CaCO,. Ex tdv newapdrov
demtotddn, St 7 avfnowg thHg 6hndig L wENTIXOTNTOG TEOGOPYIcEMS ToD EddpOovs
nagovoiq [CaCOy eivar mohv uwod, xvpawvouwévy eig 0,2 — 0,5 yihootoicody-

voua. Katotéom dvayodgousv 1 dmotehéouata 1010V E00QDV.

MMinaz 1.
“Ohuxt) ywonuindrns mpoogogiosws &is yihtootoio. npocdiogiedsioa dia Tijs wedddov T K,Cro,.
*Edagog atepodpevoy CaCO, Mpoadxn 10°, CaCO,
15.4 15.6
21.2 21.7
18.3 18.6
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Kat’ doyxag dua v &ntémicwy tdv  avrodhakipov xatidviov Eonotuomotd-
cauey 8C Gha ta 8dden 1o BaCly. [Maoetnonoauev Gums, Gtu &mi Edagpdv oregov-
uévov CaCO, 1 6hue) ywomtidene moocoophoems 1ooadtoollouévn S thg we-
9600v 1ot K,CrO, flto wiwootéoa tiic 1o tiic uedédov tod OEwmol Guuwviov

2 4 w Q ns ns u
gvotoxouévng totoitng. H Swagood 88 fto tdoov ueyodlvtéon, Goov meoroadregoy
ax6oeotov Mo 10 Edagog. Tolto dgeileto moopavide elg thv wi) tehelav Extdmi-
oW @V TEOGoPNUEVOY OvTwY Udgoydvov, didtt, dg yvwtdv, to idvra ©dp0ys-
vou duoxdhog ExtomiCovrar éx tiic émupavelac t@v xolhoetd®dv ol Eddgouc.

Eic v meolmtwow tavmy 2oxépdnuey va yonoiwomotjowuey to 6Eixov Bd-

\ e - {3 7 S5 ~ 3 ’ ’ \ s r c ’
otov, t0 Omolov VdeoAvouevov ahxoalwds ntomilelr mAnoéoteoov ta iGvro Vdooy6-

c ~

vou. Ilodypat, g mewpopatinde diemiotdoouey, of dwagpooal obror 2hattovvral

DA

#ota mohy, €av émi 8dagpdv otegovuévay CaCO, yonocipomomjcwusy OEwov Bd-

owov. Katotéon magadérouev ta metoaparixd dedouéva teoodowv dam@v.

IIinaz 2,

“Ohuns) ywonuindrns mpoopogioews eic yidooroio. idapd@y dvev CaCo,.

"Entémors ik % "Bwtémiots dea l: "Extémicts S 1;‘
CH,—COONH, BaCl, (CH,--C00),Ba
14.5 13.6 15.4
30.4 26.5 29:5
8.9 6.4 9.0
13.7 9.6 12.6

IMeoaitéow diemiotdddn, Gri dua yonowmomothoewe toU 8Eod Paglov zol
éni dagdv meoexdviov CaCO, elolonouey eic upeourde meoimrdoele MIEMUévny
v oAy ywontdinta mposgo@icems. “Exoviec Aowmov o1 Sy ta dvotéow
dtargoluey T Edden eic dvo natmyooiag. "Edden td émoia mepiéyovy CaCO, déov

va xotepydCwvtar O ’l'BaCl2, év® £ddpn ta omolo otegotvian CaCO, déov vor

v

rateoydlwvior dia ) Ba(CH,;-C00),. T dmotehéopato tiic Ohixfic ymwonti-

®0TNTOG TEOOQOPYoEws Td Omola eveédnoav S tiig Vg’ THudv mootevoudvig

ueddédov Gvayodgovral eig tov mivaxa 3. "Ex tol mivaxog tovtov PAémouev, St
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#youev doxeta xaknv cvuntmoly Gmoredesudrwv v ovyxoicel ug T amoteléopata
g uedodov 1ol BEwol duuwviov.

Ex 1ol amlvaxog 3 ratagoaivetar meoaitépw Ot eic meoumtdoelg twvag (Emi
ueo®v  2dagdv otegovuévwv CaCO,) ta Aaufavéueve dia tis pedddov tobd
MgSO, dnoteMéopata elvar mohd wedteoa t@v Vo dhhwv (PA. mivoxa 3 v
aovd. 22, 25, 26, 29 28depn). Toltto moogavidg dpsihetar elg v wn mhijom éx-
6oy v moocoognuévey idvtmy  vdooybvou vmo tod Pagiov tot BaCl, g

Siemiotdonuey xate v Odiegedvnowv Tiig uedddov Nudv.

ITinaz 3.

*Anoredéopara tijs GAixijs ywenTKdTHTOS TPOGROWIGEWS £is yiAtooToicodVVvaLi

dni 100 yp. édagovc.

o S s Ml T | Mo Witk
O T
1| 174 | 172 175 63|19 147 154 140 1 14
2 155 1158 1560 80 2 185 190 ' 182 ' 15.3
3 100 ‘ 10.4 | 95 042 139 154 ' 149, 0
4 191 215 186 1592 304 | 205 ' 251 0
5 ‘ 148 | 142 | 145 15128 198 | 224 Y
6| 219 217 222 | 04| 2 461 458 5 - 23.2
7, 95 1041 99 1502 92 | 94, 42 0
8! 148 156 151 126 | 2 136 126 91 0
9 216 224 197 17827, 139 | 148 129 14
10 l 154 179 | 162 118 281 123 | 128 95 141
11 ‘ 105 11.9 | 1 159 |29 | 227 243 186 L8
12 198 | 212 | 207 124 (80 | 103 | 114 | 79 0
13 l 159 168 | 162 175 31| 128 132 — ' 99
14| 114 108 | 109 1232 132 | 138 } — | 40.2
15| 218 1211 199 1.2 88 \ 179 | 118 — 194
16 ! 143 ' 15.4 i 139 0 [ 8| 115 | 120 ; - 20
17, 152 165! 148 0 [[85 | 212 | 224 — 142
18 ‘ 19.8 ‘ 209 2171 o | 36 l 264 | 215 | —  15.1
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Iagetmoncapey &mione 6t eic molhdg meowmtdoelg Oty Fouev ouugpvicy
amotehecudrwv netaEd tiic 6Axilc ywontwbnrog mOOoGRoY oEwg evoedeions dia
10000L00topnod tod moosoopndéviog xatidvrog (m.y. NH, §j Bd) xal tiic 6huxiic
L0ONTXGTNTOS TO0COOPYGEWS OLd TQOGOLOOLGUOT EVOg EXAGTOV TOV TOOGQOPNUE-

vov xotdvtov xal ddooicemg adtdv. Tolto dvagéoetar xal tmo tob Kelley (4).

Awgfaywyn Thg Epyacing &ig Tag AEmTOMEPEinG

A’) Dpoadioptopdg 100 TitAoOL 1;; K.CrO,
Ti{thov Aéyoviec &vvooiuev 1o ythootoicodvvaua K,CrO,, ta 6mola meoié-
i

yovto g 3D n.én.TO K,CrO,.

Awddopey 9.71 yoou. K,CrO, (194.2:20=19.71) ymuxdec r»adagod, eic

ameotayuévov Vdwo &vide dyrouetoriic @idhng tov Aitoov, cuuminpoluev Emelta

0 Vdatog uégor tiic yoauwic kel avomwoiuey naddc. “Ex 1ol diadduatog tov-
tov hapBdvousv dxoBds S oupwviov 10 x.éx., Hrouev tavta elg oAV
Qualy tdv 250 %.éx., mwooodétouev 1 yoou. KJ, dvaxvoiuev hagpods moog dud-
Moty tovtov, moocdérouev D x.éx. H,S0, meolmov 16.5% (maoacxevdlerar U
doowdoemg 9.3 n.én. munvol H,SO, €1d. PBdoovg 1.84 el 100 %.8x.), mwuatilo-
uev Guéowg v @udiny, avaxivotuev Elagode xal dpieuev év foeuig éxi 10 Ae-

ntd. Meta v mdoodov tdv 10 lemtdv mooodéropev petd mooocoyils meol Td
150 %.8x. aGmeotayuévov Vdatog xai perootusv to AmoPhndey iddiov duw 10
N2,5,0;. “Otav 10 Sudhvwa  xoraotf] Godevidg xitowov mwooolétouev 1-2 x.éx.

dtahipotog duidov xai  EEaxolovdotinev v mooIumy Na,S,0, uéyolg &a-

paviceme g ®voviig yooldc ToU tmdoauviov xal §u(pavicls?ng Mg Aevromopaoivng
yooudg tod oynuatilouévov Yeuxot yowulov. Thv dlayny tol yowupatog doxol-
vouev xohitegov doyalduevor (¢ Efg. Meta v mooodfumy tob Siakdporog tod
Guvdov #al woog T0 Téhog Thc Gvtidodoswg, 1 meoodnxn tob Na,S,05 yivetau
ava dvo otayévag. “Exdotote petd tyv mooodjuny t@dv otaydvev tot Na,S,0,
M avaxivnowc yiverar tideuévng the @uding Eumgoodey @UAlov dimdntivod ydo-
tov, 6mdte 1) GAAayl) TOU YOWDUATOS EIVOL XOTUPOVIS.

N
1 %. éx. 10 Na,S,0,=0.00647 yo. K,CrO, i
N

1 x. éx. 10 Na,S,0,=0.066y1k0ctoicodvvaua
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Ta ratavahodévra x.éx. 10 Na,5,0, dvayopev &mi 3D xn.éx. Suadduarog

K,CrO, xai #newra petatoémoucv els yrhiocroicodivaue dix modamhasiocuod
gzt 0.066.

N
Ava ta 10 x.éx. 10 K CrO, xatavakioroviar ocvvidwc 14,7—15 x. éx.

10 Na,S,0,.
K,CrO, xammvadddnoav 14.9

35x14,9

K,CrO, xamvalddncav 10

Hapddeypa. "Eorw St dwa 10 x.éx. 10

% éx. . ~Na,S,0," érouévwe dtdx ta 35 x.éx.
gg ¥ re ool 10

N
52.15 x.én. 10 Na,S5,0,. Auwr molanlaciiopod éxi 0.066 evpioxopsy o yihio-

otoicodUvopo Hrol H2.15 x 0.066 = 3.44 yihiostoicodivana.
N

‘O doduog 3.44 eivar 6 tithoc toU K,CrO,, tov 6rolov avayodqo-

10
uev éml Tig QLaAng.

B’) Hpoadtopiands tiig SAnilg XwpnTInéTNTO; TPOSPOPACENS EV T8 ESKPEL.

Avadvpaza. a')"llié'e’;mof' Baotov. Atakvouev 136.71 yoau. (CH,-CO0),Ba+H,0
uixidg xadapol sic 10 Aitoov.

B')—]‘ Xhowgrovygov Paglov. Avalousv 122 yo. BaCl, + 2H,0 ynuixdc xa-
Yaood eig to Aitoov. ‘Eav 1o dvortéow Swadiuata 1ol 8Eixod xul yhwotovyov Ba-
ofov Semviouv pixoov dokopa dindoipey.

Kat® doyos 8Eevdlopev 10 #dugog, iva Swawmiotdomuey v magoveiav § un
CaCO,. ITpog tolto ¢lc woav mosbrnra tob Vmo dEéracty Eddgoue mooodérouey

HCI (1:1). "Eav nagatmoiowuey dvafoasuov (rrooveiay CaCO,) xateoyaldueda
N

10 #dagog O 1- BaCl,, Zav dév magarnenomuev avafoaocuov (dmovsiav CaCO,)

N
xategyaldueda totto dua 1 Ba(CH,~COO0),, d¢ xatwtéow avagégouev. "Evtoc
nooefuyiopnévon (ue dxoiferav 0,1 vo.) owhilvos guyoxeviooems, ywontixdrytog
neotmov 5O x.§x., Uevopev H yo. degobnoadévrog 2ddpovg, xdrw T@V 2 mm. mgo-

odérouey 3D n.éx. BaCl, (¢ig v meointwowv nagovoiag CaCO,) ) 35 n.éx.

il

N
% Ba(CH,-COO0), (glc v megintwov dmovoiug CaCO,), nwuariCouev dta nd-

natog & xaovtoovx avoxwvolpev émi 10 Aemtd, dgaigoipey 10 mdpa xai @uyo-

28
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%evipoluey elg cuoxevv quyoxeviofoemg éxt D hemrd uge 2000 otpoqag xotd Ae-
4 \ A A 3 2 \ 3 ~ 3 ’ N {3 7
atov. Meta v guyorévionowy dmoytvouev to dvodey tod Eddpovg Stavyic Uyodv.
Thv w0y yhootovyov 7 6Ewod Baoglov, dvaxivnoly, uyorévronewy xoi dmd-

wvowy, émavalaufPdvousy Gxoun uiav @oodyv.
(Kata iy avaxivinow moémer v didetar 7 déovea moocoyy, Gmwg to #da-
@oc dmoxoMdror tot muduévog tol cwhijvoc @uyoxevroncewe” tolito EmiTuyydvo-
uev wtvmdvres tov muduéva tod cwhijvoc Eml tiic makdunc). Eav délownev va
) . 7 . ; e 2 e
1006dLogtompey 10 moosoopnuévov Na 7| K cvldéyouev td dmoyvviueve Uyod !,
ratémy mooodétopev elc tOv cwhfjve @uyoxsviofoswg 3D x. &x. Gmeotoyuévou
Vdatog, mwuatilopev, avoaxwvovuey &mi 8 — 10 hemtd, Adgaipoluey 10 TONO
xol uyoxevigobuey éml D Aemra ug 2000 otoopds. Metd v @uyorévionoty
3 7 \ 3 ~ 2 ’ \ < ’ 07 - ) 7 ’ A A
amoydvouev 10 dvodsv 1ol Eddgovg davyég Uyedv. ((H amdyvoig moémer va €i-
vat Goov 10 duvatov tehela). Thv dvotéow doyaciav Emavalapfdvouev daxéun
utav @ooav 8 Udatog xal toelg poodag O’ oivomveiuatog HH-60° ug v dopo-
oav 8tL avaxwvobuev Exdotote uévov H Aentd. Kava tag Gvaxivioelg, dbg Gvepé-
oauev, moémel va diderar moocoyy), Smwg dmoxolldtul toU muduévog tob cwAfjvog
10 &apog, Sttt meooxoldrar ouvidwg otegeds Adyw Tig puyoxevioioemg. (Zxd-
TLpov elval 10 woua To0 cwAijvog vo Exwhiveton Exdotote O Udatog, tvo dmwopa-
QUVWUEV TULOV Vmdoyov dhag tob Paolov).
Meva v dvotéom nateoyactov CuyiCouev mdhv tOv cwhAfjva @uyoxeviomn-
\ \ \ k1 3 ~ c ’ ’ 3 9 /’ ~ ’
cewg paly ue to Edagog. “Ex 1ol edoedévroc Pdoove di” dgparoéoeme tob Pdooug
00 owAfjvog ueta tdv H yo, tol Eddpoug, evolorouey TO VYOV TO OTOTOV GUVE-
xodtnoav ¢ B yo. tod &ddgouvg xal T Towduate ToU cwAijvog.

"Hon elc t0v ocwhijva @uyoxevioficems mooodétouev axopde 3D x.éx.
10 K,CrO, (8 owpwviov petondévia) nouatiCouev, dvarwvotpey émil 8-10 Ae-

o val dimdodpey dua Enood Nduov elg Emoov mothorov. (Eig myv meolmrwouv

' Eig mv negintwow xad’ fjv wedxerton va. mpoodogicwpey 10 mpoogogmuévov Na
K Ba meémer moonyovpéveg va  Gmopoxguvdoiv O éxalMicewg to VdatodiaAvta dlota Tov
vatpiov xul xoliov. Eig tyv megintwoww Aowwdov adtiv mod Tijg mweoodxng tob dEwxod
yrworovyov Papgiov, moootétopev eig TOV cwhijva 35 x.éx. oivomvevpoarog 55 - 60°, dvoxivoi-
pev émi D Aemtd, Quyoxevioolpev xai Gmoylvopev TO Stouvyss Uyedv. Thv doyaciov taviny
g éxmMicewg du oivomvedpotog émavolapfdvopey dxépn 8o gopds. “Ensira mgocdévopey
10 yAwgrovyov 1 6Ewov Pdorov xai xuregyaloueda 1o Edagog dg dvatéow Gvagégouey.
"Eav %otd v guyoxévienow to oivomy. Uyeov dév elvan Swowyis (6mwg mogetmoenioapey eig
molha Glatovyo-dhxolwpéve E8dgn), téte T Exmhuvog T@v dhdreov yiverar Tidepévov tod
£dagoug &mi Ndpov. 150 x.&x. dmdfpatog elvor doxerd. Elto petagéeetol eig tov cwhijva

A 2

©fj Bondelq tdv 35 x.6x. yhmowolyov # dEwol Pagiov.
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adtv Oév quyoxevigoTuev, diétt magetnofcauey Stu petd tiv Quyoxévionoy to
veoxeipevov Uyoov Otv elvar dtavyée).

Tag medrag 10-15 otayévac 1ob dindjuatog dnoyivouev. "Ex 1o Sravyodc
dimduatos AauBdvopey axoipds dia owpmviov 10 x &x., érouev tavta el oar-
oy @uikny t@v 250 x.éx. xoil meoediooiouev mdhv oV tithov tod K,CrO,

goyalouevor dxods ®g dvagéoouey Std tov  wooodoptoudy tob tithov TOD

10 K,CrO,.

Yaoloyiouds. "Eotw St td D yo. #dgovg »al ta toyduata 100 cwijvog

ovvexpdtnoay 2 %.&x. VYooD.

N
"Eotw 8¢ 6t dua 10 %.6x. Simdijuorog xatyvoladdncay 11,2 %.éx. 1(‘)Na,SEOS.

‘H avayoyn #dn 9 yivy énl tdv moootedéviov 3D x.&x. K,CrO,, ovv toig

10
®.&x. 100 VyQol, Tt 6moin ocuvvexodtnoav ta D youu. 2ddgoug xal Td TOuBUATA
100 cwhijvog. Eic 10 mapdderynd poc ta ovyroarndévia x.éx. sivar 2. “H Gva-

yoyn Acwwov da yivy éxl 37 %.éx. iror 10:11.2=37: X x 37511'2:41,44.

‘Emouévog dio 3T x.éx. xammvalddnoav 41.44 x.éx. 7~ Na,S,0,, td 6noia

10

avriotouolv eic 41.44 x0.066 = 2.73 yuhootoicodbvopa. Taita meoiéyoviar &g

10 moootedévia 3D x.éx. K,CrO, pera v xategyaciov tdv H yo. ddpouc.

10

"Eotw 6 tithog tod K,CrO, eivan 3.44 yihworoicodivana. ‘H dwagpoon 3.44

10
—2.13 =0.71 yihwootoicodivaua eivar 1 6wt} ywontxdtne mEOGEOPHoEMS TAV
Medéviov b yo. &ddpovs. “Emeita avdyopev 2mi 100 yo. &ddgovg do molha-

ahaotacuot éni 20, Hjror 20x0.71 = 14.2 yihiootoicodivapa.

Hagavienois. "Eav | 6Any yoontixétne mooooopficems eivat dveo t@v HO

whootoicoduvdpwy, tote Aaufdvouey mog xateoyaciov 3 #) 4 yoou. #ddgove.

SUMMARY

A rapid method is proposed for the determination of the total exchange
capacity of the soil. This method is based on the decrease in concentration
of an N/1o K,CrO, after reaction with one soil which is first saturated with
barium. The barium that is replaced from soil is precipitated as BaCrO, with

a consequent decrease in the concentration of the K,CrO, solution.
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We titrate the N/1o K,CrO, iodometric before and after the reaction
with the soil (which is saturated with barium). The diffrence in the K,CrO,
contents when expressed in m. e per 100 gm. of soil gives the exchange

capacity.

A) Preparation of a N|/10o K,CrO, solution and estimation of
the m.e. which are contained in 35 ml. of the N/10 K,CrO, solution.
9.71 gm. K,CrO, pure, are dissolved in distilled water and the volume made
up to 1ooo ml. Exactly 10 ml. of that solution (by means of a pipette) are
praced in a flask of 250 ml, add 1 gm. KJ, shake gently for dissolving, add
5 ml. dilute H,S0, (9.3 ml conc. H,SO, of sp. gr. 1.84 are deluted with
water in a volumetric flask of 100 ml), stopper immediately, shake gently
and let stand 10 minutes. Then add about 150 ml water and titrate the libe-
rated iodine with N/1o Na,$,0, When the solution becomes faintly yellow
add starch solution and continue adding N 10 Na,S,0, until the blue color
disappears and the light green color appears. 1 ml N/10 Na,5,0,=000647
gm K,CrO,=0.066 m.. The used up ml N/1o Na,S,0, are calculated for
35 ml N 10 C,CrO, solution and then multiplied by 0.066. So we estimate

the m.e which are contained in 35 ml of the K,CrO, solution. Exemple:

35x14.5 _
let for 1o ml N:.10 K,CrO, we used up 14.9 ml N:10 Na,§,0, then ————=

52.15 ml N 10 Na,S,0, or 52.15Xx0.066 =344 m.e.

B) Determination of the total exchange capacity of the soil.

For the replacement of the exchaungeable cations, the soils which are
free from CaCo, are leached with N/1 Ba(CH, -COO), and soils which contain
CaCO, leached with N/1 BaCl,.

1) N/1 Barium acetate: 136.71 gm Ba(CH,-COO),+ H,O pure dissolved
in 1 L. water. 2) N/1 BaCl, 122 gm BaCl +2H,0O pure dissolved in L. water.
If the above solutians are slightly turbid are filtered.

Transfer 5 mg airdry soil ((2mm) to a clean 50 ml centrifuge tube
and weigh. Add 35 ml of N/1 BaCl,orBa(CH, COO), stopper, shake for 10
minutes, remove the stopper and centrifuge at 2000 r.p.m., decant and discard
the solution. Repeat addition of 35 ml N 1 BaCl,orBa(CH,-COO),, shaking,
centrifugation and decantation once. Then add 35 ml water, shake 8-10 mi-
nutes, centrifuge at 200 R.P.M. for 5 minutes decant and discard the solu-

tion. Repeat washing and decantation once with water and three with alcohol
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55-60° shaking only 5 minutes each time. Weigh tube which contains the
wet soil. The difference between the two weights taken gives the weight of
alcohol solution held by the soil and the tube walls. Then add exactly 35
ml (by means of a pipette) of the above prepared N/10K,CrO,, shake for 8-10
minutes and filtrate througha dry filter in a dry beaker. The first 10-15 drops
discard. Then place exactly 10 ml of the filtrate in a flask of 250 ml and
titrate with N/1o Na,S,0, exactly as above by the tritation of N/10 K,CrO,
is quoted.

Calculations: Let the soil and the tube walls held 2 ml alcohol solu-
tion. Let also for the 10 ml of filtrate of the K CrO, solution are used 11,2
ml N/10 Na,S,0,. The used up ml N/1o Na,S,0, are calculated for 37 ml

(35 ml N/10 K,CrO, added+2 ml alcohol solution held by soil and walls of tube)
S

10
pond to 41,44 X0°066=2.73 m.e. Those m.e are substracted from the m.e

namely 10 I .2= 37X X = =41.44 m! N 10 Na,S,0, which corres-

which are contained in the 35 ml N:1o K,CrO,.

Let the 35 ml N/10 K,CrO, contain 3.44 m.e, then 3.44-2.73=0.71 m.e,

The 0.71 m.e are the tolal exchange capacity of 5 gm of soil. Then
multiply by 20 ie. 0.71 x20- 14.2 m.e/100 gm of soil,

The results are on table 3 and the comparison became with the method
of NH, - acetate (1) and the method of MgSO, (2).

Nots: When the total exchange capacity is more than 50 m.e/100 gm

soil we weigh 3 or 4 gm of soil
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